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Directions(1-5): In each question, there 
is a sentence with a part of the sentence 
printed in bold. Decide whether this 
bold part is correct and fits in the 
grammatical and contextual framework 
of the sentence. If it is to be changed, 
choose from options (A) to (D) to replace 
that part. If not, mark (E) as the answer 
i.e. ‘No change required’.
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Question 1

When the boy regain consciousness he wanted to eat something but the 
doctor strictly asked us not to feed him anything. 

(A) If the boy regain 
(B) When the boy regained 
(C) Despite the boy regain 
(D) On the boy regaining 
(E) No correction required
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Question 2

The social worker wanted to bring about little changes in the lives of the 
people of that village. Hence no one bother to co-operate with him. 

(A) to bring back 
(B) to bring up 
(C) to bring forth 
(D) bringing about 
(E) No correction required
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Question 3

Raghu is planning to lay claim for the insurance company as soon as he 
recovers from the accident. 

(A) lay claim to 
(B) lay claim on
(C) laying claim towards 
(D) lay claim against 
(E) No correction required
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Question 4

The new concession announced by the Government will have only a 
marginalised effect on the lives of the people. 

(A) marginal effect off 
(B) margin of effect on 
(C) marginal effect on 
(D) marginalising effect in 
(E) No correction required
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Question 5

The Charitable Medical Centres work under the auspices from Welfare Trust of 
any Industry and hence the government has little control on their working. 

(A) under the auspices by 
(B) by the auspices from 
(C) through the au spices from 
(D) under the auspices of 
(E) No correction required
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Directions(6-8): In this question, two 
sentences are divided into four 
fragments. One of the fragments may 
or may not have an error with respect 
to context or grammar. You have to 
identify the pair consisting of the 
errors and mark it as your answer. 
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Question 6

a) Prime Minister Narendra Modi said on Sunday (A)/ that India and Mauritius enjoy 
the most unique friendship(B)/ based on shared cultural and linguistic(C)/ heritage, and 
robust cooperation in many areas.(D)
b) In a dig at the the Central government over its push for self-reliance, (P)/ Shiv Sena
leader on Sunday said Russia gave(Q)/the first lesson to the world on being ''Aatmanirbhar'' 
(R)/by introducing a COVID-19 vaccine while India has just been preaching about him.(S)

I. A&P
II. B&Q
III. D&S
IV. B&S
V. NONE OF THESE
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Question 7

a) The condition of former(A)/ president Pranab Mukherjee remained unchanged(B)/ at 
Sunday and he continued to be on ventilator(C) /support, doctors attending to him said.(D)
b) Two people have been(P)/ arrested in connection with the(Q)/ death of a 20-years-
old student here,(R)/ police said on Sunday.(S)

I. A&S
II. B&P
III. C&R
IV. D&Q
V. A&P
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Question 8

a) It was M S Dhoni's (A)/ vision that led to Rohit Sharma becoming one of the greatest 
white-ball (B)/ opener and the batsman paid a glowing tribute to his former captain,(C)/ 
calling him "one of the most influential man in the history of Indian cricket".(D)
b) Pro wrestling is replacing (P)/ pro basketball at the Florida arena that was(Q)/ home 
to the Orlando Magic, at least(R)/ for the time being amid the coronavirus outbreak.(S)

I. A&P
II. B&R
III. D&R
IV. C&Q
V. A&Q
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Directions(09-10): In each of the questions given 
below, two independent sentences need to be 
joined into a single sentence, with the help of a 
starter given below as options. 
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Question 9

I)  India is an agricultural nation with a huge contribution from poultry industry.
II) The Central Department of Animal Husbandry, Dairying and Fisheries has put into effect 
an action plan to face the avian influenza.

A. Though India…. B.As a…. C.India being an…..

I. Only A
II. Only B
III. Only C
IV. Both A&B
V. Both B&C
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Question 10
I) Deaths per million population have been low in India like most Southeast Asian countries.
II) The case fatality rate too has been low, the continuous dip in the rate might be due to 
more cases, including asymptomatic ones, being detected due to increased testing with 
rapid antigen tests.

A. Along with the deaths per…
B. Though the case fatality….
C. Unlike deaths per million..

I. Only A II. Botha A&B
III. Only C IV. Both A&C
V. Only B
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